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POST-GRADUATE COURSE 
Term End Examination — December, 2011  

MSW 
Paper - IV 

( MAN AND SOCIETY ) 
Time : 4 Hours Full Marks : 100 

 ( Weightage of Marks : 80% ) 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 
 

ECONOMICS 

(Y…SÔ]ÁX - 50 / Marks : 50 ) 

◊[˝\ˆÁG - Eı 

Group - A 

Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX*   18 × 1 = 18 

Answer any one question. 

1. "◊]`“ %UÔX›◊Tˆ' [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? ◊]`“ %UÔX›◊TˆÃ[˝ ]«FÓ 

È[˝◊`rÙÓm◊_ ◊[˝[˝ Tˆ EıÃ[˝”X* \ˆÁÃ[˝Tˆ[˝„bÔ ◊]`“ %UÔX›◊TˆÃ[˝ 

EıÁPˆÁ„]ÁÃ[˝ ◊[˝b„Ã^ AEı◊ªRÙO ªRÙO›EıÁ ◊_F«X* 

 What do you understand by the term 'mixed 

economy' ? What are the major characteristics of 

a mixed economy ? Write a note on the 

framework of the mixed economy in India. 

  2 + 8 + 8 

2. \ˆÁÃ[˝Tˆ[˝„bÔ 1950-51 aÁ_ ÂU„Eı £Ã[˝” Eı„Ã[˝ [˝Tˆ¤]ÁX EıÁ_ 

Y^Ô‹ôˆ LÁTˆ›Ã^ C ]ÁUÁ◊YªK«˜ %ÁÃ^ [˝ ◊à˘Ã[˝ W˝ÁÃ[˝Á◊ªRÙO Y^ÔÁ„_ÁªJÙXÁ 

EıÃ[˝”X A[˝e =N˛ a]Ã^EıÁ„_Ã[˝ ]„W˝Ó \ˆÁÃ[˝Tˆ[˝„bÔÃ[˝ %UÔX›◊TˆÃ[˝ 

[˝ ◊à˘Ã[˝ aÁZı„_ÓÃ[˝ AEı◊ªRÙO ae◊l˘ä ]…_ÓÁÃ^X EıÃ[˝”X* 

 Review the trend in growth of national and per 

capita income in India since 1950-51. Evaluate 

briefly the growth performance over this period.  

  9 + 9 

◊[˝\ˆÁG - F 

Group - B 

Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX*   12 × 2 = 24 

Answer any two questions. 

3. \ˆÁÃ[˝Tˆ[˝„bÔÃ[˝ Y◊Ã[˝EıîXÁÃ[˝ ]«FÓ È[˝◊`rÙÓm◊_ ◊[˝[˝ Tˆ EıÃ[˝”X* 

%ÁY◊X ◊Eı ]„X Eı„Ã[˝X aÁ+“◊TˆEı EıÁ„_ \ˆÁÃ[˝Tˆ[˝„bÔÃ[˝ 

Y◊Ã[˝EıîXÁÃ^ Y“E ı◊TˆGTˆ ÂEıÁX Y◊Ã[˝[˝Tˆ¤X A„a‰ªK˜ ? 
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 Bring out the main features of Indian planning. 

Do you find any change in its nature in recent 

years ? 6 + 6 

4. \ˆÁÃ[˝Tˆ[˝„bÔÃ[˝ %UÔÍX◊TˆEı =~Ã^„X V–”Tˆ LXaeFÓÁ [˝ ◊à˘Ã[˝ Y“\ˆÁ[˝ 

a+„EÔı AEı◊ªRÙO a]Á„_ÁªJÙXÁ]…_Eı %Á„_ÁªJÙXÁ ÂY` EıÃ[˝”X* 

 Examine critically the impact of rapid population 

growth on India's economic development. 

5. \ˆÁÃ[˝Tˆ[˝„bÔÃ[˝ Â[˝EıÁÃ[˝„±ºˆÃ[˝ EıÁÃ[˝Sm◊_ ae„l˘„Y %Á„_ÁªJÙXÁ 

EıÃ[˝”X* Ac˜O a]aÓÁ◊ªRÙO„Eı a]ÁW˝ÁX EıÃ[˝„Tˆ ◊Eı ◊Eı YV„l˘Y 

G–c˜S EıÃ[˝Á =◊ªJÙTˆ [˝„_ %ÁY◊X ]„X Eı„Ã[˝X ? 

 What are the major causes of the widespread 

unemployment in India ? Suggest remedial 

measures to tackle this problem. 6 + 6 

6. \ˆÁÃ[˝Tˆ[˝„bÔ E ı◊b %UÔX›◊TˆÃ[˝ =~Ã^„XÃ[˝ ]…_ _l˘Ó C 

=„ï`Óm◊_ ◊[˝[˝ Tˆ EıÃ[˝”X* Y◊Ã[˝EıîXÁ EıÁ„_ \ˆÁÃ[˝Tˆ[˝„bÔÃ[˝ E ı◊b 

%UÔX›◊Tˆ Â^ a]ÿôˆ a]aÓÁÃ[˝ a∂ˆÇ«F›X c˜„Ã^‰ªK˜ Âam◊_ ◊[˝[˝ Tˆ 

EıÃ[˝”X* 

 What are the major aims and objectives of 

agricultural development in India ? State the 

major problems faced by Indian agriculture 

during the plan period. 6 + 6 

◊[˝\ˆÁG - G 

Group - C 

Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX*    8 × 1 = 8 

Answer any one question. 

7. a«b] =~Ã^X ÂEıÏ`_ C %a] =~Ã^X ÂEıÏ`_-AÃ[˝ ]…_ 

YÁUÔEıÓ◊ªRÙO ◊XÃ[˝÷YS EıÃ[˝”X* 

 Distinguish between balanced growth strategy 

and unbalanced growth strategy. 

8. %Á]Á„VÃ[˝ ÂV„` Y“ÁU◊]Eı ÿëˆÁÿöˆÓ Y◊Ã[˝„b[˝ÁÃ[˝ aÁ]◊G–Eı =~◊TˆÃ[˝ 

LXÓ \ˆÁÃ[˝Tˆ aÃ[˝EıÁÃ[˝ Â^ aEı_ [˝Ó[˝ÿöˆÁ G–c˜S Eı„Ã[˝‰ªK˜X, 

Âam◊_Ã[˝ =YÃ[˝ AEı◊ªRÙO ae◊l˘ä ªRÙO›EıÁ Ã[˝ªJÙXÁ EıÃ[˝”X*  

 Write a short note on the provisions made by 

Government of India for the overall improvement 

of primary health services in this country. 



 MSW-4 MSW-4 2  

PG-ARTS-20308-G   [ Y„Ã[˝Ã[˝ Y úˆÁÃ^ V–rÙ[˝Ó PG-ARTS-20308-G  

SOCIOLOGY 

(Y…SÔ]ÁX - 50 / Marks : 50 ) 

◊[˝\ˆÁG - Eı 

Group - A 

Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX*  18 × 1 = 18 

 Answer any one question. 

1. %ÁW˝«◊XEıTˆÁÃ[˝ È[˝◊`rÙÓ ◊Eı ? ◊Y◊ªK˜„Ã^ YQÕˆÁ a+“VÁ„Ã^Ã[˝ =YÃ[˝ 

%ÁW˝«◊XEıTˆÁÃ[˝ %UÔÍX◊TˆEı C aÁ]Á◊LEı Y“\ˆÁ[˝ [˝ÓÁFÓÁ EıÃ[˝”X* 

 What are the features of modernization ? Explain 

the economic and social impact of modernization 

on backward sections of people. 6 + 12 

2. G–Á] C `c˜„Ã[˝Ã[˝ ]„W˝Ó YÁUÔEıÓ [˝SÔXÁ EıÃ[˝”X* Ac˜O G–Á] C `c˜Ã[˝ 

◊Eı\ˆÁ„[˝ YÃ[˝&Ã[˝ ◊[˝„Ã[˝ÁW˝› XÁ c˜„Ã^ %Áa„_ YÃ[˝&Ã[˝ 

◊X\ˆ¤Ã[˝`›_ TˆÁ ÂVFÁX* 

 Distinguish between the rural and the urban 

communities. Show how instead of being 

independent of one another, rural and urban are 

in fact dependent on one another. 6 + 12 

◊[˝\ˆÁG - F 

Group - B 

Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX*   12 × 2 = 24 

Answer any two questions. 

3. aÁ]Á◊LEı›EıÃ[˝S ◊Eı\ˆÁ„[˝ a]ÁL ◊XÃ^‹óˆ„SÃ[˝ AEı◊ªRÙO mÃ[˝”±ºˆY…SÔ 

Y“◊TˆúˆÁX TˆÁ Y^ÔÁ„_ÁªJÙXÁ EıÃ[˝”X* =VÁc˜Ã[˝S ◊VX* 

 Explain how socialization is one of the most 

important institutions of social control. Give 

examples. 

4. LÁ◊Tˆ [˝_„Tˆ ◊Eı Â[˝Á„MıX ? Ac˜O LÁ◊Tˆ Y“UÁÃ^ ◊Eı W˝Ã[˝„XÃ[˝ 

Y◊Ã[˝[˝Tˆ¤X A„a‰ªK˜ Â[˝ÁMıÁX* 

 What do you understand by caste ? What kind of 

changes have taken place in the caste system ? 

5. a]Á„L W˝„]ÔÃ[˝ mÃ[˝”±ºˆ [˝ÓÁFÓÁ EıÃ[˝”X* 

 Explain the significance of religion in society. 

6. aIH [˝_„Tˆ ◊Eı Â[˝Á„MıX ? ◊Eı ◊Eı W˝Ã[˝„XÃ[˝ ◊[˝◊\ˆ~ aIH  

%Á‰ªK˜ ? Ac˜O ◊[˝◊\ˆ~ W˝Ã[˝„XÃ[˝ aIH a]Á„L ◊Eı W˝Ã[˝„XÃ[˝ \…ˆ◊]EıÁ 

YÁ_X Eı„Ã[˝ ? 
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 What do you understand by Associations ? What 

are the different types of Associations ? What 

roles do they play in the society ? 2 + 4 + 6 

◊[˝\ˆÁG - G 

Group - C 

Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX*    8 × 1 = 8 

Answer any one question. 

7. a]Á„L [˝Ã^ïı ]ÁX«b„VÃ[˝ ◊Eı\ˆÁ„[˝ %Y[˝Ó[˝c˜ÁÃ[˝ EıÃ[˝Á c˜Ã^ TˆÁ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* [˝Tˆ¤]ÁX a]„Ã^ Ac˜O %Y[˝Ó[˝c˜Á„Ã[˝Ã[˝ ◊[˝„`b 

EıÁÃ[˝Sm◊_ ◊Eı ? 

 Discuss how the elderly persons are abused in 

our society ? What do you think are the primary 

reasons for the abuse in the present times ? 

8. %î[˝Ã^ïı %YÃ[˝ÁW˝ ÂEıX A[˝e ◊Eı\ˆÁ„[˝ %Á]Á„VÃ[˝ a]Á„L 

[˝ÁQÕˆ‰ªK˜ TˆÁÃ[˝˝ AEıªRÙOÁ ◊[˝[˝Ã[˝S ◊VX*  

 Give an account of why and how juvenile 

delinquency is increasing in our society.  

    


